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5.3 practice (by skill)
Part 1: [Isolate the trigonometric expression & root]

1) Solve the equation. 2) Solve the equation. 3) Solve the equation.
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4) Find all solutions on the interval [0,27)

5) Find all solutions on the interval [0,27) 6) Find all solutions on the interval [0,27)
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7) Solve the equation. 8) Find all solutions on the interval [0,2m) 9) Solve the equation.
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10) Find all solutions on the interval [0,2) 11) Find all solutions on the interval [0,2r) 12) Find all solutions on the interval [0,2m)
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13) Find all solutions on the interval [0.27) 14) Solve the equation.
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Part 3: [Rewrite to use a single trig function; Pyth Ident}
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16) Find all soldfions on the interval [0.2n) 17) Find/All solutions on the interval [0.27)
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15) Find all solutions on the interval [0,27)
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18) Find all solutions 0;4: interval [0,27)
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